FIG S2. TB biomarker model performance in Phase |. Combining the most significant univariate features
and the most stable features identified by stability selection yielded an optimal model with nine markers:
kallistatin, gelsolin, TSP4, afamin, BGH3, C9, testican-2, FCG3B, and DERM. Other markers such as LBP
and NPS-PLA2 showed strong negative correlation with the top marker kallistatin and were therefore not
included in the model. In contrast, markers such as FCG3B and BGH3 that were identified by stability
selection were generally less correlated and therefore able to improve performance of models. A. ROC
curve for HR9 (host response 9-marker model) in training, test, and blinded verification set. The colored
boxes show the model performance expectations based on the 95% confidence intervals. B. Decision
boundary plot based on the LogOdds for TB of 270 verification samples. Red, TB; blue, non-TB; hollow
dots, mis-classifications; green, indeterminate due to analytical variability (LogOdds interval [-1.2, +1.3]).

AT ) Jpm— e
: r
Q.QFe s Y e =
0.81 = ]
07_ : 4
Sample Set (Serum) Sens. / Spec.
-.?06 ....... ,__ ............... Training 90% / 85% =
% 05L HIV-negative 95%/84% |
5 HIV-positive 88% / 90%
D0l smear-negative 100% / 90% |-
- Test 89%/88% |
5 Verification (blinded) 80% / 84%
Training (n=333) - AUC=0.94 (0.90,0.96)
01 ................ —-—Test (n=86) AUC=092 (081,096)-
0 . ‘ Verification (n=250) :AUC=0.88 (0.83,0.92)
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 09 1
1-Specificity
B. o [ ¥ o . (e Jmg 14110%?:4093 1410(:68
250} o® o *o1410622 o1 190 y
. 141“120 1410359 X [}
o 4108 |y e g0 ¢ .
1410209 o 1410214 1410226 | . o. * 2 ®
1410208 ® (L
2001 e * 11:11(?11:: .o'. o i
) @ 1410073 -
o 1410031 A [N e 1
Taatas e * 1143070 A o ¢ -
. fr245 1143062
L) R T A
-éi ..moszs . * g *  1140477°
(‘(g ! ® 11:04-93 o 1140649 i 0 ® . 'Y
1140386 1140408 _ 1140305 o
100} 140293 o 1140234 | i . ”‘,?i’.gf% S L)
B TP ’ " . :. i
. ¢ o 101:267 K4 . ¢
50l : e Jlotgato . o 4
1014148 < ) * o
2 % . rd " e
o0 ¢ e . 1010112
. e ® * . A d 1012093 .1010109 .
1 I 1*le | Py ’
-%0 -20 -10 0 10 20 30

log( Pr [ TB | x]/ Pr [ non-TB | x])





